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If the difference between the selling prices of an article when sold at 18%
discount and at 10.5% discount is Rs. 192, then the marked price of the article
is:
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4. Rs. 2,500
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The radius of the base of a cone and also that of a hemisphere each is 14 cm.

Also, the volumes of these two solids are equal. The curved surface area of the

cone is:

Uk Yk o TR st FIeaT 3R Ueh oTeiTet it Foresrm 14 Bt 21 |ner €, 3 S s
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The slant height and the diameter of the base of a right circular cone are 34 cm

and 32 cm, respectively. Its volume (in cm’) is:

T 1T IR Yich <ht fereieh s oY STTeIR okt 3T ShureT: 34 Bt 31X 32 It 2)
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If the volume of a cube is 375\/3 cm3, then its diagonal is:
7 Uek O ST ST 3753 T3 B, A SHenT et ¥

\/\f"_ 0\3} ’S:ﬁ%r—b

S-S 7\§7\%7@7\G ﬁ—/?\ 1. 10 cm
Q) i — >,
— s

o= @;—D\> ’\i\’n%‘ E 156@

P G S e
= S| \S 3. 14 cm
RSN S

=\ Om 4. 12 cm



SSC MTS 2022-23 &
The sum of two numbers is 60 and their product is 875. The HCF of the
numbers is:
3t AT T ATHA 60 § HR IR T 8758 T AT T
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Vaishnav left from place A at 11 a.m, for place B, and Suman left from place B
at 2 p.m. for place A. The distance between them is 516 km. If Vaishnav’s speed

is 44 km/h and Suman’s speed is 52 km/h, then at what time will they meet each

other?
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Prasad bought 12 TV sets at Rs. 18,000 each and sold all of them at a total price

of Rs. 2,59,200. Find his profit or loss percentage.
THTE 7 12 Felt 9 Tk 18,000 T § TS 3R 37 At 6l 2,59,200 TUX hT Het

1T X 3 fEaml aF SHHT AT AT T UTav JTd hierul

1. Profit 15%

2. Loss 15% X
3. Loss 20%%

e‘ %ﬁ( 4. Profit 20%
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The value of 21 X [(9 - 4) = {(8 = 8 of 4) + (4 + 4 of 2)}] is:
21 X [(9 - 4) = {(8 + 4 T 8) + (4 + 2 TT 4)}] T HM &:

1. 140

2. 80

3. 100

4. 20
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There were 1200 students in a hostel. If the number of students is increased by
300, then the expenses of the mess increase by Rs. 5,000 per day, while the

average expenditure per head diminishes by Rs. 5. The original expenditure of

the mess, per days, is:

TS DEATATE F 1200 BT Al ATS BTAT hl HGATH 300 A Feg hl AT 8, A
HISTTETT o @ | 5,000 T T fo aht qfeg giel 8, Tt Aid s h 6d @ 5

TUY R Bl ATdT 81 a1 Ui e, %ﬁmmmamnﬁ—ww% 1. Rs. 52,000
Wk QT\O\\Y\OJ\‘% o\\\f\w) ?i\ﬂ&“"\ N\

s \oeX 2. Rs. 45,000
<

' 3. Rs. 50,000
S‘(\-\'\Y\ —30300 — 200

&0 4. Rs. 55,000

N =20000 =000
\w\—, Sdooq
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In what time will Rs. 8,000 become Rs. 12,167 at 15% per annum, compounded

annually?

TR T o 8,000 T <A VT 15% aTiver 1 <X & anftes w9 & TAIRT Bremt
12,167 T BT ATTAT?

S —

CYS
7 /78700

QP

/ \3\, : : "\"

1. 3 years

2. 2 years

3. 5 years

4. 4 years
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